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fasize=120 1 TUTCee2MAT2T20 _ 28271281020

(N=1%=3f 1A30Y»A4AT)

= “laie»>WSCY TSES»AC -anT=63T3Y 136313/ 03y | 3 ATasu

Ol CL

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|3 |4 5 6 7 8 9
AU _2@°UA 12Eé°8 69,491,815.9 69,081,815.9 438,000.0
2100/01/0 | O AU _p=20as6 ~UaclAL 2082040 7,776,684.2 7,108,810.4 667,873.8
T12&20asAlas0U°s

31 ATa0

2110|01| 1 | O | GA»Yé1cA =~ -4AT31CA UBAUCYY»A, 7,216,733.5 6,875,359.7 341,373.8
A»T313Y I36373A40U, yCY3VE3I3Y
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
&RCo

2111|01| 1 | 1 |GA»YELCA ™ -aRT31CA USAUCYY»f, A»n3T3Y 7,216,733.5 6,875,359.7 341,373.8
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 7,047,055.4 6,871,323.4 175,732.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 4,517,890.0 4,517,890.0 -
N3 T»E2Tx3AY»A
- &30 - T3 TRAUY»A, 1ABUST3Y EASEaieaUY»A 4112 563,388.7 563,388.7 -
N3wasT Tx3AY»A
- WY»A-»wCT 1263[a0AIasYY»f 4212 237,173.4 237,173.4 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 15,624.1 15,624.1 -
- T3AC 1363(a0AlasYY»fi 4214 168,059.3 168,059.3 -
- 283413 -A3T3Y I3Eé»A 4215 5,168.0 5,168.0 -
- aliC T e3AUS TaRasUY»AC TSA0ST3tacAlasY 4216 100,800.0 100,800.0 -
- 2Aw=2e3(03Y(3Y - 4fT1400400Y»AC - TAT TSEéxf 4222 70,500.0 70,500.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 2,904.9 2,904.9 -
- D3U3T3A-53UCY 1363(a0AIa5YY»fi 4232 36,194.8 36,194.8 -
- 2RE3TST33UC UBEY3-Cr3T3Y 136 - 3603Y 4233 9,240.0 9,240.0 -
1=3¢3{a0AlasYY»h
- DO TSWTST3Y 1363{40Ala0YY»h 4234 39,809.2 39,809.2 -
- T2E3T30E213Y 13¢3a0AlasYY»A 4235 10,000.0 10,000.0 -
- U»AT3(=064068313Y 13Eé»i 4237 108,881.4 108,881.4 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 266,552.5 266,552.5 -
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 10,643.9 10,643.9 -
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

c = g 3 0 Swfuubph LGN Y = ” anwihG

wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7 8 9

- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 275,910.1 275,910.1 -
Yafia- &l &=N&=vail
- MA=E»YIST3ICY YiaoA»A ™ N=- 408w 4261 76,257.7 76,257.7 -
- TASYE AT 3ICY YiaoA»f 4264 262,231.2 262,231.2 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 23,715.2 23,715.2 -
- DA YA 213y 3 YiasA»i 4269 6,450.0 6,450.0 -
- W Gwwuinbbp pinuotihg 4729 37,250.0 37,250.0 -
- A3AT31CA Tx3AY»f 4823 3,179.0 3,179.0 -
- 2[f I=Eé»h 4861 23,500.0 23,500.0 -
- TABYEAAAT3(CY 63hu=Tanaiuy»h 5121 50,900.0 - 50,900.0
- T 3EST3Y 6303 TanaiUY»h 5122 124,832.0 - 124,832.0
2. duwpswlwl opibyinGlinh hhoGwlnpngnid 169,678.1 4,036.3 165,641.8
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 4,036.3 4,036.3 -
a=N&=vail
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 165,641.8 - 165,641.8

2130|01 | 3 | O |2anhwGnipn pGnyph SwrwynipyntGGEN 72,050.7 72,050.7 -
&RCo

2131|101 | 3 | 1 |Upfuwwnwywaquih /yunpbph/ gény panhwbnip pGnyeh 72,050.7 72,050.7 -
1=3¢3{a0AlasYY»h
31 ATa0
1. 303036C313Y 13640A13Y ST1»AC 72,050.7 72,050.7 -
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I'33U=31»A8400 (A3 T iCAZTT3T
EQ 2347404140 YY»H)
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 63,505.2 63,505.2 -
N3 T»E2Tx3AY»A
- WY»A-»WCT 1263[a0AIa5YY»f 4212 3,294.9 3,294.9 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 126.5 126.5 -
- T2AC 1363{a0AlasYY»h 4214 1,165.6 1,165.6 -
- aliC T e3AUS TaRasUY»AC TSA0ST3tasAlasY 4216 1,228.8 1,228.8 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 5.0 5.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 254.0 254.0 -
Yafia- &l &=N&=vasl
- TASE»YIST3ICY YidsA»A ~ N=-ase 4261 2,158.9 2,158.9 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 229.9 229.9 -
- A3AT31CA Tx3AY»f 4823 81.9 81.9 -

2150|01 | 5 | O | 2anhwGnin pGnyph hwGpuyhG 326,500.0 - 326,500.0
I36346AIacYY»AC - T&T N» 13341313y
YSEZ.[3gY 3BEZT3Y0Y»A
&RCo
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= ol “laie»>WSCY TSES»AC -anT=63T3Y 136313/ 03y | 3 ATasu

= = 59 = pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363137.U3Y NALTSIV»AC 3YT3VaUY»AA &
1 (2|34 5 6 7 8 9

215101 | 5 | 1 |COnhwGnip pOnyeh hwOpwihG SwewjnipnLGGbph 326,500.0 - 326,500.0
-TAT N> 3BAT3T3Y ~ V3E=.- 13y
SRE3T3YUY»ii
31 AT460"
1. USE3-[3cY SRE3T13Y0Y»i 286,500.0 - 286,500.0
- USE=- 1213 r3T3Y [SEé»f 5134 286,500.0 - 286,500.0
2. OA"3Y 03030¢ -FE3idA N3T313-1¢ 6,000.0 - 6,000.0
xB- AT &0
- USE=- 1213 r3T3Y [SEé»fi 5134 6,000.0 - 6,000.0
3. Y47 C3idAU3Y ~ 136406383 1U3Y 9,000.0 - 9,000.0
Y3E3- I»Ac UB3T14a6U
- USE=- 1213 r3T3Y 1SEé»f 5134 9,000.0 - 9,000.0
4. p303038CY3T13Y V»A1AaiU3IcY IA3-A»AC 25,000.0 - 25,000.0
UB=146U
- USE=- 1213 r3T3Y 1SEé»fi 5134 25,000.0 - 25,000.0

2160|011 | 6 | O | LaGnhwlnip plGnyph hwiGpughl 3 161,400.0 161,400.0 -
T36346AIacY Y»i (3IF 136»AcY 483 113Y40)
anco

216101 | 6 | 1 |COnhwGnip pGniyph hwOpwihlG SwewntpinLGGGn (w)) 161,400.0 161,400.0 -
12E»fCY 4831 T3Y40)
3 ATasu
1. _ CUAbUY»A, N36310U400Y»A, 13 3A3Y¢ 59,550.0 59,550.0 -
4AdBaGUY»AC "~ TxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn Gapyuywgllihu
E3NUBY I3 ix3A460Y»i
- A3AT31CA Tx3AY»h 4823 59,550.0 59,550.0 -
2. Qnyph Gyundwdp hpwyniGplbph 101,850.0 101,850.0 -
-A3Y6U3Y, -YIN3TU3Y =
T0» I3 T T40AI3Y TA3U31A03Y N» 71
134731 ix3[400Y»i
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 24,400.0 24,400.0 -
- A3A31CA Tx3AY»h 4823 77,450.0 77,450.0 -

22001020 |0 a=2pta=0asAlacy 41,870.0 41,870.0 -
3 ATasu

2220102 | 2 | 0 |@=3030306C313Y &38T&3YaiAla6Y 22,000.0 22,000.0 -
anco

2221102 2 | 1 |@=030=6C3T3Y &3 A3YaiAlasy 22,000.0 22,000.0 -
3 AT460"
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=t ATai0

ey
= 2 A =) pwdhaltnh, fudptph L nwubph, hOswtu Gub E AV A
e 2 HE 2 pIntottnwhG Swiuutinh iGunbuwghnwlwl ZE ATEL Junswywl pnigt | $nanuiht piniet
ol =2 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

1. #303036C313Y 4380 E3Ya0AI3YY 22,000.0 22,000.0 -
Bc316404la6Y
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 1,000.0 1,000.0 -
- MA=E»YIST3ICY YiaoA»f ™ N=- 408w 4261 1,000.0 1,000.0 -
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 20,000.0 20,000.0 -

2250|102 | 5 | 0 |&3BWE3YA0AI40Y (3 136»ACY 483 1T3Y40) 19,870.0 19,870.0 -
afigo

2251|102 | 5 | 1 |a3RmA&3YaiAlasY (3l 136»ACY 4831 T=3Y40) 19,870.0 19,870.0 -
=1 A4
1. %aA3144C I3303>A8U3YY 3c31640Al45Y 19,870.0 19,870.0 -
- q&0IUG T eSAUS TARAUY»AC TSAOST3Ea0Al46Y 4216 1,800.0 1,800.0 -
- TASYEAANT3ICY YiaoA»A 4264 1,070.0 1,070.0 -
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 17,000.0 17,000.0 -

2400|040 |0 TUTe82T20 252" 25a6AlaslUes 9,584,418.0 15,081,171.9 (5,496,753.9)
=1 A4

2420|104 | 2 | O | MaiO=3UYU»éa0AlacY, 3YT363icy 363,300.0 - 363,300.0
TYU»éaiAlacy, OTvaneaollasy -
aféan1achliasy
afigo

2424|104 | 2 | 4 |aéa-al 363,300.0 - 363,300.0
=1 A4
1. aéd-U3Y 63Yo¢ 13é4064i0 363,300.0 - 363,300.0
I»A3YAA4 - 46U
- b»YU»fiG * RGYABAIAGYY»AC T3¢45645U 5112 350,000.0 - 350,000.0
- b»YU»AC " RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 13,300.0 - 13,300.0

2450|04 | 5 | 0 | TA=Ye&4AT 16,358,743.5 13,986,091.1 2,372,652.4
anco

2451|104 | 5 | 1 |O3Y3&3AN=UCY wA=YedanT 8,567,070.8 6,331,483.3 2,235,587.5
=1 A4
1. Uupuywn-pliiinlyw dwélh Jbpwlnpngnid b 5,026,886.7 5,026,886.7 -
33N83va0U
- P»YU»iiC * T3640l6Y»AC AYASGCT Yafia-aiU 4251 5,026,886.7 5,026,886.7 -
a=la=val
2. Uupuwyun-punntyuw swélyh hhdGulnpngnid 350,000.0 - 350,000.0
- P»YU»AC ~ BCYABAIASYY»AC TSACT3E T»ASYanA- aU 5113 350,000.0 - 350,000.0
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb _ﬂ = AVISU»YA

w2 3| 2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

3. OUABUBA»AC I»ASYAAE - 46U 40,598.8 17,598.8 23,000.0
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 17,598.8 17,598.8 -
a3Na=vail
- P»YU»AG ~ RCYABAIAYY»AC TBACT3E T»A=YaRa-4a0 | 5113 23,000.0 - 23,000.0
4. D»Y3E3U»AC I»A3YEA4 - 40U 170,000.0 20,000.0 150,000.0
- b»YU»AC " T3640l6Y»AC AYAS36CT Yara- U 4251 20,000.0 20,000.0 -
a3Na=vail
- b»YO»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 150,000.0 - 150,000.0
5. D» W CATY 3Y640UY»AC 136466460 590,277.0 15,000.0 575,277.0
I»A3YAahi4 - 46U
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- a0 4251 15,000.0 15,000.0 -
a3Na=vail
- P»YU»AC ~ BCYABAIAGYY»AC T3é456400 5112 572,000.0 - 572,000.0
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 3,277.0 - 3,277.0
6. T3UAc3cY 136406 I310Y»A¢ 110,000.0 90,000.0 20,000.0
A3I3Y- Y46l ~ §3N&3YaoU
- 2 I3Eé»h 4861 90,000.0 90,000.0 -
- P»YU»AG ~ RCYABAIAYY»AC TBACT3E T»A=VaRa-4al0 | 5113 20,000.0 - 20,000.0
7. <pwiqnuil Ypapah pupbywnpgmd 1,997.8 1,997.8 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 1,997.8 1,997.8 -
8. P31[ai0CY»A¢ ~ +a04a6Y»Ac 817,810.5 - 817,810.5
I»A313640640U "~ NCUY3Y&AE - 46U
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 817,810.5 - 817,810.5
9. 64046Y»AC E3NE3YA6U » T B3N3 - 4AT400 60,000.0 60,000.0 -
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara-aiU 4251 20,000.0 20,000.0 -
a3\a=vail
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 40,000.0 40,000.0 -
10. 2ZiTaI3/3Y31»0C 13503 1»A803Y 700,000.0 700,000.0 -
1363/46Ala6Y
- 2[f I=Eé»h 4861 700,000.0 700,000.0 -
11. A»03N3AA3TY»AC 136466400 40,000.0 - 40,000.0
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 40,000.0 - 40,000.0
12. Uywnnpriulbpnid pbpwhwppwllbbph 30,000.0 - 30,000.0
383N4i46U
- 2 U»U»Y3Y»i 3RS TaiaslY»h 5129 30,000.0 - 30,000.0
13. 64046Y»AC, NABA3AZTY»AC ~ 3|-CY»AC 229,500.0 - 229,500.0
I=3N374naoy
- 2 U»U»Y3Y»i 3RS TaiaslY»h 5129 200,000.0 - 200,000.0
- UldoA»f ~ A== -3Y»h 5221 29,500.0 - 29,500.0
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pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuutph tnbwnbuwghwnwyw

1363137 U3Y NALT3IV»AC SYT3YAUY»AA

FAnnywdh
MM

AY13U»YA

=t ATai0

Jwpswywl pjniot

$nlnwyhb pjniob

[y

N

w

5

7

8

14. Uupwywb pwlGlyh wowlgnipjwdp
CA3T3Y36i40 u303u3icY

»YA3BI136466 I3IuY»AC ~~ u303uC 13145y
B30 - 30U3Y Y»A1A46U3IcY TA=-AC CAS6U3Y

UCcd63640UY»i

400,000.0

400,000.0

- W Gwwuinbbp pinuobihg

4729

400,000.0

400,000.0

2455

04

E&0AT3T3R3A3ICY * 3 rA3Yel4AT

7,791,672.7

7,654,607.8

137,064.9

=t ATai0

1. T»AxE31Y»AC NCUY3YAaha - 46U

97,064.9

97,064.9

- 2 UnU»Y3Y»f " e3A03TanalY»A

5129

97,064.9

97,064.9

2. Of"3YC U» T AEEEFCT»YC SBE3T3YUY»i

13303 1»7440U0 (A31TiCAi=31T31

£ BUAAA0AIAGYY»F)

2,612,834.6

2,612,834.6

- Untpuhnhwbp ng $hOwbuwywl wtnwyw
(N=3U3{YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

4511

2,512,834.6

2,512,834.6

3. I»A-»T VI3 (I TTABTABYEREATET
400" 4A3+4E31AU3Y [363a6Alasy

466,916.3

466,916.3

- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

4511

466,916.3

466,916.3

4. T»A313640003Y "~ 43 - 36U3Y
Gypnwuwlwl puwlyh wowlgnipjuwdp
CA3TI3Y36i40 @A "3YC U» T AEREECT»YC
I»A3136400U3Y »AlA4A [A3-CA
(B3TTICAZIT3I FC334R40AI40YY»H)

1,656,335.5

1,656,335.5

- 2t [3Eeé»fi

4861

1,656,335.5

1,656,335.5

5. 6Ypnwwlwl Gapnpntdughl pwllyp
wowlygni pjwid) whwlwagynn Gplw,

U» TAEREFCH»YC I»AST136400U3Y »AlAant
IA3-CA (A3 T ICA3TT3I FC3%AA40AIA5YY»A)

1,635,781.5

1,635,781.5

- 2t [3Eeé»fi

4861

1,635,781.5

1,635,781.5

6. CiAAAZ13Y UC46AI3Y N3A"3YA6AI=Y
GGpnpnduyhl Spwigph wowlgntppwdp
CAZI3Y36740 ©A3YC U» TAAAEECT»YC
I»A3136400U3Y »AlA&AL 1ABU3LYAANZ3ICY
IA3-CA (A3 T ICA3BTT3I FC3%AA40AIA5YY»A)

1,382,739.9

1,382,739.9

- 2t [3Eeé»fi

4861

1,382,739.9

1,382,739.9

7. §9A"3YC ;» [T AT A3YEZ4AT ! 6~ A
»YASI36400 I3 10Y»AC YA4AE - 46U

40,000.0

40,000.0

- P»YO»AC ~ RCYABAIAGYY»AC TSACT 3t T»ASYaR4 - 40U

5113

40,000.0

40,000.0

2470

04

Uy phwquywrGbp

15,000.0

15,000.0

anco’

2473

04

Qpnuwpontpintl

15,000.0

15,000.0

=t ATai0
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
cZ 3 0 swfuubinh Wl wluw z 0 pyniot Gnwyhl
wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt
LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9
1. 2pnuuippgnipiul quipquigntd 15,000.0 15,000.0 -
- 2[f AYA=6CT 1A=3U3RYARANY»A 4639 15,000.0 15,000.0 -
2490|04 | 9 | O | SGwnbuwlwl hwpwpbpnpiniGGan (wy (7,152,625.5) 1,080,080.8 (8,232,706.3)
136»ACY 44371 T3Y40)
&RCo
2491104 | 9 | 1 |SOGunbuwywl hwpwpetpnipynLGbtn (wy; nwutnhl (7,152,625.5) 1,080,080.8 (8,232,706.3)
4A3T1=2Y40)
31 ATa0
1. _ [A4RY»AC T»031A460 84,000.0 74,000.0 10,000.0
- CanhwOntp pGnyph w)p SwrwjnLpnLtGOEn 4239 3,000.0 3,000.0 -
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 71,000.0 71,000.0 -
- UldoA»f ~ A== -3Y»h 5221 10,000.0 - 10,000.0
2. 2¢31640Al46Y N3U3lYo3icy 22,718.0 22,718.0 -
13303 1>A840A140Y Y»ACY
NE603AT13T4A40AI46YY»AC N» o~ IB&T31
3Yix3A [363J40AI46YY»AC U3 140603y ~
-»A»BUSYSTY»AC GSN&3YU3Y N3U=37
- AYA=6CT 1A=U3RYAANY»A &» 1 313Y 4637 22,718.0 22,718.0 -
N=2USVaY»AC 43 3é izl
T3UUST»AAA&0AIA0YY»ACY
3. T36373A0U3Y " 1»Ox 1317313y 125,000.0 125,000.0 -
T»EYEra -C3Y»AC %3 - 36400
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 125,000.0 125,000.0 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
4. 2¢31640Al46Y N3U3Ya3igy 44 302,000.0 302,000.0 -
N3USBIYa3cY IBBU3T>A840A146YY»AC
Ii=3- A»AC Y
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 250,000.0 250,000.0 -
- UTCA=T TasAlasyy»i 3 =flasld al>r=ay1a0 4819 52,000.0 52,000.0 -
T3UUST»AAA0AIA0YY»ACY
5. 44 yCY3Ye3I3Y 31 aCIiY»AC G 3A40UC6 (8,242,706.3) - (8,242,706.3)
DELE il
20p=25A TaoUek £52020DL0 PATE<d 8111 (1,800,000.0) - (1,800,000.0)
PaOK £520a00/£0 BATEOS 8411 (6,442,706.3) - (6,442,706.3)
6. TAY313Y 0"3i4A4iU 55,000.0 55,000.0 -
- UTCA=T TasAlasyV»i 3l s=fasld al>r=ay1a0 4819 55,000.0 55,000.0 -
T3UUST»AA40AIA0YY»ACY
7. D3E6»3T4AU3Y SBE3T3Y0Y»fi 160,640.0 160,640.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 160,640.0 160,640.0 -
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8

8. U»AzAaasu3icy IA3 - Ai»Ac CAZT3Y3646U 128,200.0 128,200.0 -
- DO TS T3IT3Y 1363(40A146YY»h 4234 8,200.0 8,200.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 120,000.0 120,000.0 -
(N=3U3YU=ICY) T3UUST»AAA0AIAGY Y»ACY
9. A3AT3ICA Ix3AY»AC - 3YOU3Y 212,522.8 212,522.8 -
1363146A46YY»i
- DO T3 TT3T3Y 1363[a5A145YY»f 4234 18,000.0 18,000.0 -
- CanhwGntp pGnyph wyp SwrwjnLpnLtbbEn 4239 80,392.9 80,392.9 -
- UTCA=T TasAlasyy»i 3l =flasld al»r=ay1a0 4819 114,129.9 114,129.9 -
T3UUST»AA40AIAYY»ACY

2500(05|0 | O pdx2T2 GA=21208 a42pTa=20asAlacy 7,213,194.3 7,143,194.3 70,000.0
31 ATa0

2510|05| 1 | O | Unpwhwln g 5,037,106.4 5,037,106.4 -
&RCo

2511|05| 1 | 1 |Unpwhwnid 5,037,106.4 5,037,106.4 -
31 ATa0
1. Unpwhwlnmnipint G L ywGhunwpwluwl 5,037,106.4 5,037,106.4 -
U=30A46U0
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 5,037,106.4 5,037,106.4 -

2530|05 | 3 | 0 | PAC3I= UCe3T3IAC 300a1U3Y 150 &303h 38,701.9 38,701.9 -
&RCo

2531|05| 3 | 1 |G2C 30maw U3y 1»0 &3(u=3A 38,701.9 38,701.9 -
31 ATa0
1. I»T»AC NAsY»A¢ U3uhigu 38,701.9 38,701.9 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 38,701.9 38,701.9 -

2560 |05 | 6 | 0 | PAC3T= UCc3T3IAC &38TE&3YaiAl46Y (3IF 2,137,386.0 2,067,386.0 70,000.0
136»ACY 4431 T3Y40)
&RCo

2561|05| 6 | 1 |Pfc3T= UCc3T3IAC A=RWA3YAiAIATY (S 13e»ACY 2,137,386.0 2,067,386.0 70,000.0
4A3T1=2Y40)
31 ATa0
1. T3Y34 T3A310Y»AC NCUY&E6U ~ 1,597,000.0 1,527,000.0 70,000.0
a3Na3vaoU
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 1,467,000.0 1,467,000.0 -
- D=1 AT YAS31=(CY 3 YiasA»i 4269 20,000.0 20,000.0 -
- AYA=6CT 1A=U3RYAANY»A &»nr313Y 4638 40,000.0 40,000.0 -
N=20=3Yo=CY =3¢ wA=ICY T3BUST»AAA0AIAYY»ACY
- b»YU»AC " RCYADAIAGYY»AC TSACT St T»A3YaA4-400 | 5113 70,000.0 - 70,000.0
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
c 2 g 3 0 dwfuutinh Gk wyuwo E! b Gnuyht
w2 3| E 2 pintebnwihb Swiuutph nbnGuwghnwywl == Jupswlwl pntg Pnlnwhh pyniok
o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|3 |4 5 6 7 8 9
2. ZET3N3YU3Y ~ UCc3 T 3U»AlU3Y 46,051.0 46,051.0 -
[36340AIA0Y Y»ii /1»63TCH36C3
- TaUasY3t 1=3é63la0AlasYY»A 4213 46,051.0 46,051.0 -
3. D3E3AZI3I3Y $46- 3A3YY»AC 2,430.0 2,430.0 -
A3NE3YE0U ~ I»A3Yana- iU
- TaUasY3t 1=3é63la0AlasYY»A 4213 2,430.0 2,430.0 -
4. ECH3U3i-»AC éW»0140U0 ~ I301383 1400 291,905.0 291,905.0 -
- D3TAT YAST3T3ICY 3 ViasA»f 4269 125,405.0 125,405.0 -
- UTCA=T TasAlasyy»i 3l =flasld al»r=ay1a0 4819 166,500.0 166,500.0 -
T3UUST»AA40AIAYY»ACY
5. AZ=3640 I»Y13YCY»iC iY363y»ilasl 200,000.0 200,000.0 -
- 2t [3Eé»i 4861 200,000.0 200,000.0 -
2600|06|0 |0 “U2T126202ULU PEU2628a0Ala0U ©1 9,183,398.3 6,650,256.8 2,533,141.5
Tagaolz2t 12&20a0A0a000°s
3 ATasu
2610|06 | 1 | O | "YSISA3Y3(cY BCY3A3A40AI46Y 526,597.1 26,597.1 500,000.0
Eli[el)
2611|106 | 1 | 1 |~ YST3A3Y3(CY RCY=A3Ra0Ala0Y 526,597.1 26,597.1 500,000.0
3 ATasu
1. £YQY313U 1364006 Y»AC u3Y1460 26,597.1 26,597.1 -
- 2t AYA=6CT 1A3U=3/YARANY»A 4639 10,000.0 10,000.0 -
- 2t [3Eeé»fi 4861 16,597.1 16,597.1 -
2. 44AAdR1 BT Cx3YC TASA3ICY B»YU»AC 500,000.0 - 500,000.0
U3Y1U3Y Ny o 3Yoar
phwlywnwpwdénpin GGEphg gpyywé
pGwlhsGEph thnfuhwwnnigdwl hwdwn
phwlwnwGGbph dGrppbpnd
- Gtlpbnh L 2hbnpyniGbbnh dGrppEnpnLd 5111 500,000.0 - 500,000.0
2630|06 | 3 | 0 |@A3U3T313A3A40U 3,074,160.2 3,074,160.2 -
Eli[el)
2631|06| 3 | 1 |eA=3U=3r3T=3n3hail 3,074,160.2 3,074,160.2 -
3 ATasu
1. UA3YEC3IC D3YAZE» T 46AI3Y 2,300,622.8 2,300,622.8 -
Yupwdwpn piul wowlgni prudp
CAZT3Y361a0 @A 3Y¢ cASUST3I3A3AU3Y
" cA3N»é36U3Y [A3-ACY TA3U31Ai40
TEYCI3I3Y 3¢31646A13Y IA3-CA
(B3TICAZTT31 EC3%AAA0AIA6Y Y1)
- 2t [3Eé»i 4861 2,300,622.8 2,300,622.8 -
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
c = g 3 0 Swfuubph LGN Y = ”
w2 3| E 2 pINLpEIWIRG dwiuutph nuinbuwghunwywl c= Jwpswlwl pynigt | $nnwyht pnigt
o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|3 |4 5 6 7 8 9
2. I»A3136400U3Y ~ $3A- 36U3Y 773,537.4 773,537.4 -
Gypnwuwlwl puwlyh wowlgnipjuwdp
CAZT3Y36ial @A 3Y¢ cASU3T3I3A3AU3Y
pwpbjwydwl épwghn (wuwuindhpwlyws
EC31afiadAlacyy»h)
- 2t I3Eeé»fi 4861 773,537.4 773,537.4 -
2640|06 | 4 | O | 64046Y»AC t4063 FandsU 2,180,973.0 1,973,973.0 207,000.0
Eli[el)
2641|06 | 4 | 1 |64040Y»AC Fate=Tanadu 2,180,973.0 1,973,973.0 207,000.0
3 ATasu
1. 2AT30CY (4663 T4AAGAIZY 63Y6C 185,000.0 - 185,000.0
NCUY3Yai4 - 460
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 185,000.0 - 185,000.0
2. 2AT30CY F4663T4AA0AIZY 63Y6C 1,971,973.0 1,971,973.0 -
B3N3-4AIU3Y ~ §3N&3YU3Y
BRE3T3Y0Y»A
- 2t ISEé»f 4861 1,971,973.0 1,971,973.0 -
3. P»YOu»AC -»03Ai»E 1 313Y 4663 raAacl 9,000.0 2,000.0 7,000.0
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 2,000.0 2,000.0 -
a3fasval
- b»YU»AC " RCYABAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 7,000.0 - 7,000.0
4. §°Au30r40E! 6 ~A B»YurAC Yaha - 46U 15,000.0 - 15,000.0
- b»YU»AC " RCYABAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 15,000.0 - 15,000.0
2650|06 | 5 | 0 | "YSI3A3Y3(CY BCY3A3A40AIBY ~ TaU46Y3F 8,000.0 - 8,000.0
T36346AIacYY»AC - T&T N» 13341313y
YSE3. [30Y 3BE3T3Y0Y»A
Eli[el)
2651|06| 5 | 1 |7 YST3A3Y3(CY RCY2AZAAAISY ~* Talasy3t 8,000.0 - 8,000.0
1363[a5Ala0YY»AC - TAT N» 1 3Hhar3T3Y
Y3E3-I3(CY SRE3T3VUY»i
3 ATasu
1. by Yu»AC = BCYA6AIA6YY»AC N» 1 3%a 1 U3Y 8,000.0 - 8,000.0
BRE3T3Y0Y»A
- UBE=. I3 T3rar3T3Y I3Eéri 5134 8,000.0 - 8,000.0
2660|06 | 6 | 0 | “YSISA3Y3CY BCY3AZA40AIBY ~ TaUAGY3E 3,393,668.0 1,575,526.5 1,818,141.5
T36340AIacYY»i (3lF 136»ACY 4831 T3Y40)
Eli[el)
2661|06| 6 | 1 |”YST3A3Y3(CY RCY2AZAAAISY ~* Talasy3t 3,393,668.0 1,575,526.5 1,818,141.5
1=3¢3{a0AlasYY»A (3l 13é»ACY a&3TT3Y40)
3 ATasu
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb _ﬂ = AVISU»YA

w2 3| 2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

1. Pwquiwplwlwpwa 26GpGpH hwpp 245,984.0 245,984.0 -
T3YCUY»AC I»A3Yaha - aiu
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 245,984.0 245,984.0 -
a=N&=vail
2. Puqudwplbwluwpwl 26Gplph plip 294,600.0 43,600.0 251,000.0
T3YCUY»AC I»A3Yaha - aiu
- D3 YAST3T3(CY 3 ViasA»h 4269 43,600.0 43,600.0 -
- b»YO»AC * RCYADAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 251,000.0 - 251,000.0
3. “3I3cy w3A3IaY»Ac 1,779,311.0 478,909.0 1,300,402.0
E303NA343A31Y»A¢ NCUY3Yana - 46U 40
a3Na3vaoU
- b»YU»AC  T3640l6Y»AC AYAS36CT Yana- U 4251 208,909.0 208,909.0 -
a=N&=vail
-D3TA YAST3T3(CY 3 ViasA»h 4269 50,000.0 50,000.0 -
- Untpuhnhwlbp ny wbunwyw (ng hwdwyGpuwyhl) ns 4521 20,000.0 20,000.0 -
YCY3YE3T3Y T3%UST»A&40AIA0YY»ACY
- UTCA=T TasAlasyy»i 3 =fadld al»r=ay1a0 4819 200,000.0 200,000.0 -
T3UUST»AAA0AIA0YY»ACY
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 220,000.0 - 220,000.0
- P»YU»AG ~ RCYAIAIAYY»AC TBACT3E T»A=VaRa-a0 | 5113 1,021,002.0 - 1,021,002.0
- 2 U»U»Y3Y»A " 83A0= TaRaUY»A 5129 59,400.0 - 59,400.0
4. Puqilwplwluwpwl 26Gpbnh pwpbwnqdwl 500,251.9 350,251.9 150,000.0
3F 3RE3T3Y0Y»A
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 154,486.9 154,486.9 -
a=N&=vail
-D3WAT YA 213y 3 YidsA»i 4269 11,765.0 11,765.0 -
- Untpuhnhwlbp ny wbunwyw (ng hwdwyGpuwyhl) ns 4521 184,000.0 184,000.0 -
YCY3YE3T3Y T3%UST»AA40AIA0YY»ACY
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 150,000.0 - 150,000.0
5. 2A3(cY 1'3646/6Y»AC B3N=-4ATA6U ~ 320,000.0 320,000.0 -
a3Na3vaoU
- 2 I3Eé»h 4861 320,000.0 320,000.0 -
6. T3A63/31Y»iAC E3N&3Y4iU 26,781.6 26,781.6 -
- AYA=6CT 1A=U3RYAANY»A &»nr313Y 4638 26,781.6 26,781.6 -
N=20=3Yo=CY =3¢ wA=ICY T3BUST»AAA0AIAYY»ACY
7. T3U3A3Y64060Y»AC = 3JE BCYE6AIA6YY»AC 110,000.0 110,000.0 -
I»A3YAana- 460~ - 203531400
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 110,000.0 110,000.0 -
a=N&=vail
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

c = g 3 0 Swfuubph LGN Y = ” anwihG

wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £

1 (2|34 5 6 7 8 9
8. Ypwpuyhl wwwnpquidplbinh Gnpngnid 89,898.3 - 89,898.3
- b»YU»AC ~ RCYABAIAGYY»AC TSACT St T»A3YaAa-40U | 5113 89,898.3 - 89,898.3
9. 1404003 - I»AC 136400400 ~ i»A=3Y&Ad - 40U 26,841.2 - 26,841.2
- b»YO»AC " RCYADAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 26,841.2 - 26,841.2

2700070 | O 2gadz=2a2pascAlasy 165,000.0 15,000.0 150,000.0
31 ATa0

2710|07 | 1 | O | “ABI=3I3Y 3&A3YuY»A, 63A0»A 100,000.0 - 100,000.0
E3AU3TaAacUuY»hA
&RCo

2711107 | 1 | 1 | »0=-aR13T3Y S&A3YUY»h 100,000.0 - 100,000.0
31 ATa0
1. 2640c383N313Y I3BU31»A840AI40YY»AC 100,000.0 - 100,000.0
hwdwp pd>)Yuwlul ywppwynpn dGEph
dbrppbpnid
- 2[E U»U»Y3Y»h " 63AUS TaRasUY»h 5129 100,000.0 - 100,000.0

2760|07 | 6 | O | 2640¢c=343NaoAlacy (3l 13é»ACY 65,000.0 15,000.0 50,000.0
1&3113Y40)
&RCo

2761|07 | 6 | 1 |2640¢=2a3N=3T3Y N3A3TCo 1=363{40Al40YY»A 65,000.0 15,000.0 50,000.0
A= - finfi
31 ATa0
1. Upnnowwwhwlwl opiGlyunGEnh 50,000.0 - 50,000.0
Neuy=Yana - 46U
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 50,000.0 - 50,000.0
2. _AT3ABUBTEEC N» T334 W E0AI46YY»AC 15,000.0 15,000.0 -
CAZT3Y3640U
- @3eY3 -0 3T3Y 1363(aAlasy Vi 4241 15,000.0 15,000.0 -

280008 |0 | O P20 £eT, @p2TaolA i Taal 3,423,173.5 2,466,693.5 956,480.0
31 ATa0

2810|08| 1 | 0 |P3Y-67C " 684ATC [3634dAla6YY»A 830,163.6 418,683.6 411,480.0
&RCo

281108 | 1 | 1 |D3Y-6WC = eQ4aRWC 1=363{a0AlasYY»h 830,163.6 418,683.6 411,480.0
31 ATa0
1. 884AT3ICY UCca6=3645UY»AC 115,399.9 115,399.9 -
13303 1»A&a0U0
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 8,937.4 8,937.4 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 106,462.5 106,462.5 -
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Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8 9

2. <wlbquinh qnunplbph L qpnuwyghlbbph 666,763.7 255,283.7 411,480.0
136400400 46 33N43Ya0U
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 15,283.7 15,283.7 -
a=N&=vail
- 2[f AYA=6CT 1A=3U3RYARANY»A 4639 40,000.0 40,000.0 -
- UTCA=T TasAlasyY»i 3l s=fasld al»r=ay1a0 4819 200,000.0 200,000.0 -
T3UUST»AA40AIA0YY»ACY
- b»YU»AC ~ BCYABAIAGYY»AC T3é456400 5112 380,000.0 - 380,000.0
- b»YO»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 31,480.0 - 31,480.0
3. D» [BYT3NABE3AZ3IC B3N=3- 41400 48,000.0 48,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 48,000.0 48,000.0 -

2820|08 | 2 | O |@B3T40A3IcY [363aoAladyY»h 2,532,989.9 1,987,989.9 545,000.0
&RCo

2821|108 2 | 1 |TASISASYY»f 609,257.7 364,257.7 245,000.0
31 ATa0
1. TASIIA3Y3CY [363J46Ala6YY» i 364,257.7 364,257.7 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 364,257.7 364,257.7 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. YASI3A3YY»AC NCUY3YAAE - 46U 245,000.0 - 245,000.0
- b»YU»AC " RCYABAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 245,000.0 - 245,000.0

2822|108 | 2 | 2 |A3Y-3A3VY»i ~ 646636A3NY»A 234,202.4 234,202.4 -
31 ATa0
1. A3Y-3A3Y3cy [363J46AIa6YV»h 234,202.4 234,202.4 -
- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl 4511 234,202.4 234,202.4 -
(N3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2823|108 | 2 | 3 |Uwynyph wnbbn, wynidpbtn, yaGupnGakn 85,108.2 85,108.2 -
31 ATa0
1. D3U3Ya3icY UBZTAGIAC ~ 3y31 A3U3Y6¢ 85,108.2 85,108.2 -
I33BU31»A8400
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 85,108.2 85,108.2 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2824|108 | 2 | 4 |2 UB3TAAZICY T3S T»AAA0AIA6YY»A 1,176,205.8 876,205.8 300,000.0
31 ATa0
1. DBZTE0A3ICY UCcA63E400Y»AC 644,797.8 644,797.8 -
CAZT3Y3640U
- aliC T e3AUS TaRasUY»AC TSA0ST3tacAlasY 4216 4,400.0 4,400.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 49,858.7 49,858.7 -
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LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8 9

- 2[f AYA=6CT 1A3U3RYAANY»A 4639 590,539.1 590,539.1 -
2. YGhnwlwpwlwlwl uyqgnt 231,408.0 231,408.0 -
040031A40AI46YY»A
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 231,408.0 231,408.0 -
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY
3. Ybhnwlwpwlwluwl wygn hhdGwGnpngnid 300,000.0 - 300,000.0
- b»YU»AC " BCYASAIASYY»AC TSACT 3t T»A3Yana-aiU | 5113 300,000.0 - 300,000.0

282508 | 2 | 5 |2fii»eW 401,515.8 401,515.8 -
31 ATa0
1. CABABU3AT»E1C = E3A3BAT»ETC 93,712.3 93,712.3 -
N3Ux»A - Y»i
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 93,712.3 93,712.3 -
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY
2. ABI»A3I3Y Y»AI3[36460Y»A 307,803.5 307,803.5 -
- UntpupnhwGtp ng $howlbuwyub wewnwywb 4511 307,803.5 307,803.5 -
(N=3U3{YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

2827|108 | 2 | 7 |PAIRZAOBYY»AC  URSTAASICY SAA»UY»AC 26,700.0 26,700.0 -
»AST3Y - Yail —~ a3Na3vail
31 ATa0
1. DAOB3A03YY»AC I»A3Yahia-4il ~— 26,700.0 26,700.0 -
a3Na3vaoU
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 13,700.0 13,700.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 13,000.0 13,000.0 -
a=N&=vail

2830|08 | 3 | 0 | &31¢4 ~ N»é4ié 1 3N304A1400Y»AC 36,000.0 36,000.0 -
N»é3[031U3Y ~ NA3T3A315313Y
1363464146V Y»i
&RCo

2831|08 | 3 | 1 |D»éatew=¢=1CaN=04ar1aiuY»h 36,000.0 36,000.0 -
31 ATa0
1. 2303038»T3A3YC 3E3T3Y0UY»AC 36,000.0 36,000.0 -
[nLuwipwln g
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 36,000.0 36,000.0 -

2840|108 | 4 | 0 | TAGY3I3Y =~ N363A31313Y 3ff 24,020.0 24,020.0 -
[36340Al46Y Y»A
&RCo

2843 |08 | 4 | 3 |TRAYST3Y " (=2e3A3T3T3Y 3 1=363(40Ala5YY»h 24,020.0 24,020.0 -

=t ATai0
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=t ATai0

ey
= 2 A =) pwdhaltnh, fudptph L nwubph, hOswtu Gub E AV A
G253 23 mmgtnuwho suuthnontusghowyws | EE AT yunguiue prigt | pnonuing e
LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

1. 2Y13(3T640AI3Y Ix3AY»A 24,020.0 24,020.0 -
- UTCA3T T40Ala0YY»fi 3k R=40lA all»1m34Y140 4819 24,020.0 24,020.0 -
I3%LU=T»NAA0AIA0Y Y»ACY

2900|090 | 0 TaAaAUasU 23,707,658.9 22,153,400.3 1,554,258.6
=1 A4

2910|109 | 1 | 0 |\USBE3140a6313Y = T3AA=313Y AYIN=3Yaoh 13,240,035.2 12,940,035.2 300,000.0
1iA4sAiaey
ance’

2911|109 | 1 | 1 |USE=14/46=3T13Y TnAaAlasY 6,847,740.0 6,547,740.0 300,000.0
=1 A4
1. USE318A46313Y 406466460 6,547,740.0 6,547,740.0 -
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 6,547,740.0 6,547,740.0 -
(R=0=lYU=ICY) T3S T»AAA0AIAYY»ACY
2. UBE318A46313Y 46646603Y 300,000.0 - 300,000.0
13303 »>A803Y N3U3A 3YNAZA»BT - 46loC
dbrp pbpnid
- 2 U»U»Y3Y»f " 83A0S TaRAUY»h 5129 300,000.0 - 300,000.0

2912|109 | 1 | 2 | T3AAST3Y AYIN=YaA TRA&SAIATY 6,392,295.2 6,392,295.2 -
=1 A4
1. D3YASIAAZT3Y 406406460 5,766,193.7 5,766,193.7 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 5,766,193.7 5,766,193.7 -
2. D37 461 1hAdoAlasy 164,023.9 164,023.9 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 164,023.9 164,023.9 -
3. U»A=3é313Y IAAdoAlacy 462,077.6 462,077.6 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 462,077.6 462,077.6 -

2920|109 | 2 | O |@CeY=3T137- AYIN3YaiA TAA46Al46Y 7,124,009.9 7,124,009.9 -
ance’

2921|109 | 2 | 1 |BCUY3T=Y AY1N=3Yasn TrAasAlasY 6,813,678.2 6,813,678.2 -
=1 A4
1. D3YASIAAZT3Y 406406460 6,277,198.8 6,277,198.8 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 6,277,198.8 6,277,198.8 -
2. D37 461 1hAdoAlasy 162,411.9 162,411.9 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 162,411.9 162,411.9 -
3. U»A=3é313Y IAAdoAlacy 359,121.3 359,121.3 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 359,121.3 359,121.3 -
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
= El 3 0 Swhuubiph tGnBuwghtwYw = > 0 pinLot Gnuyh(
wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt
LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7 8 9
4. CA»T4I=3Y 1hAdoAlasy 14,946.2 14,946.2 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 14,946.2 14,946.2 -
2922109 | 2 | 2 |@CeY=3T=3d- (FACT) AVIN=Vasn TrA&sAIASY 310,331.7 310,331.7 -
3 ATasu
1. D3YASTAAZI3Y 406406400 254,419.5 254,419.5 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 254,419.5 254,419.5 -
2. D37 461 17AdoAlasy 36,270.6 36,270.6 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 36,270.6 36,270.6 -
3. U»A36é313Y InAdiAlasy 1,400.8 1,400.8 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 1,400.8 1,400.8 -
4. CA»T4I=3Y 1hAdoAlasy 18,240.8 18,240.8 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 18,240.8 18,240.8 -
295009 | 5 | O |Aé7 UBI3A13TY»AC 4136313A- 140 2,764,650.1 2,060,391.5 704,258.6
TAA&oAl46Y
anco
2951|09 | 5 | 1 |2AW3147463T3Y 136w C3i3Ta0Alasy 2,764,650.1 2,060,391.5 704,258.6
3 ATasu
1. 2ZAT318A46313Y 1361 C3A3140AlacY 2,056,147.4 2,053,147.4 3,000.0
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 48,986.8 48,986.8 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 2,004,160.6 2,004,160.6 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
- 13AE213Y 63A0=T4RAUY»A 5122 3,000.0 - 3,000.0
2. ZAT318A46313Y I3BU3 I»A840AI46Y Y»AC 701,258.6 - 701,258.6
NeUY=3Yana - 46U~ i»A3Yana- 460
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 701,258.6 - 701,258.6
3. «<wlynp Yngmwly Yppwhwdwihn MNUY- 7,244.1 7,244.1 -
400 BAT318A406313Y 1361 C3AZ140AI3Y
IEpU=31»A8400 (A3 1 iCAZIT31
EQ 2347404140 YY»H)
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 7,244.1 7,244.1 -
2960|09 | 6 | 0 | TAAZ0AIZYA TA3U31A740 0A=3Y13T 578,963.7 28,963.7 550,000.0
[36346A46YY»HA
anco’
2961|09 | 6 | 1 | TAAAAISYA WASU=31AT4A0 0AZY13T 1=363{40Ala0YY»h 578,963.7 28,963.7 550,000.0

=t ATai0
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA
[ 2 3 =t U»YA
wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt
LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9
1. UBE318A46313Y N36 131 40AI46YY»AC 569,263.7 19,263.7 550,000.0
NCUY3Yafi4 - 460 = i»A3YaAa - 460
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 19,263.7 19,263.7 -
a=N&=vail
- b»YO»AC " RCYADAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 550,000.0 - 550,000.0
2. BAAGSI3YY»AC GFCUAC313Y»AC — 3 9,700.0 9,700.0 -
UCcd63640UY»AC 13303 1»A8400
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 9,700.0 9,700.0 -
3000(10|0 | O €a0k=2E2T20 a42pT1a=20a0Alacy 2,349,111.7 2,349,111.7 -
31 ATa0
3070(10| 7 | O | 846C3E313Y N3U1ail 3ATAYA0AIAGYY»A (3IF 583,104.6 583,104.6 -
13»ACY 4831 T3Y40)
&RCo
3071| 10| 7 | 1 |@40C3E3T3Y N=wasT SAwaYasAlasyY»i (3l 583,104.6 583,104.6 -
13¢»ACY 83T T3Y40)
31 ATa0
1. 46C338»6 3Y3E3NAT AYT3YCuY»AC 5,767.0 5,767.0 -
»A»E3Y»AC N3Y - 6 1C IB3U31»A8460
- aliC T e3AUS TaRasUY»AC TSA0ST3tasAlasY 4216 2,572.0 2,572.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtbOEn 4239 2,175.0 2,175.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 1,020.0 1,020.0 -
2. D3A3Y3T 440Y»640 3Y03Y6 ~ 27,890.0 27,890.0 -
E40C338»8 3YSE3NAT AYT3YCuY»AC
N3U3A Na603AT=3T4A40AI3Y 13303 1»A8400
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 27,890.0 27,890.0 -
3. 840C3t38»6 BY3A3NAT AYT3YCUY»icy 220,982.6 220,982.6 -
VAYSI3Y " NCBSWSIC Qf»AcY S¢31046Ala0Y
- aluC  e3AUS TaRaUY»AC TSA0ST3tacAlasY 4216 2,500.0 2,500.0 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 5,200.0 5,200.0 -
- D3TAT YAST3T3(CY 3 ViasA»h 4269 9,990.0 9,990.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 179,082.6 179,082.6 -
- W Gwwuwnbbp pinuobihg 4729 22,610.0 22,610.0 -
- UTCA=T TasAlasyV»i 3l s=fasld al>r=ay1a0 4819 1,600.0 1,600.0 -
T3UUST»AA40AIA0YY»ACY
4. 840C3E3E»6 3Y3E3N4T 3Y03Y6 300,585.0 300,585.0 -
c31640AI46Y
- aliC T e3AUS TaRasUY»AC TSA0ST3tacAlasY 4216 4,320.0 4,320.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 1,440.0 1,440.0 -
- DA YA 213y 3 YidsA»i 4269 1,825.0 1,825.0 -

34




= “laie»>WSCY TSES»AC -anT=63T3Y 136313/ 03y | 3 ATasu

Ol CL

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

- Untpuhnhwbp ng Lubme|uJ~Q (ng hwdwybpwyhl) ng 4521 2,400.0 2,400.0
YCYBYEST3Y 13003 T»AAA0AIA0Y Y»ACY
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 9,600.0 9,600.0
- W Gwwuinbbp pinuobihg 4729 29,500.0 29,500.0
- UTCA=T TasAlasyY»i 3 =fasld al»r=ay1a0 4819 251,500.0 251,500.0
T3UUST»AA40AIA0YY»ACY
5. DIEIA3I3I3Y I3BU3I»A840AI46Y V»ACY 27,880.0 27,880.0
Sc31640AI46Y
- UTCA=T TasAlasyy»i 3l =fladld al»r=ay1a0 4819 27,880.0 27,880.0
T3UUST»AA40AIA0YY»ACY

3090(10| 9 | 0 | 846C3E313Y &3BUA3YadAlasY (3iF 1,766,007.1 1,766,007.1
13»ACY 4831 T3Y40)
&RCo

3091(10| 9 | 1 |846C3EIT3Y A3RWA3Va0AlAY (3 136»AcY 302,359.1 302,359.1
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 302,359.1 302,359.1

- 4Al40Y»40AI3Y 133031»A8400

(BT ICAZTT3I £C3%4740AI40YY»Fi)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 287,849.5 287,849.5
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 4,412.8 4,412.8
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 161.9 161.9
- T2AC 1363{a0AlasYY»h 4214 2,097.5 2,097.5
- aliC T e3AUS TaRasUY»AC TSA0ST3tacAlasY 4216 750.0 750.0
- U»AUCY - &fT4i0460Y»f 4221 48.0 48.0
- @HU»YRY»AC 6303 TARaUY»AC AYA=6CT 4252 1,161.0 1,161.0
Yafia- &l - &=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 3,872.9 3,872.9
- TASYe&ART3ICY YiaoA»f 4264 1,566.3 1,566.3
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 305.4 305.4
- 2t ISEé»f 4861 133.8 133.8

3092| 10| 9 | 2 |@4OC3E3T3Y 3R W ASYAAISYA WA=U=31AT40 1,463,648.0 1,463,648.0
0A3Y13T 1=363(40Al46YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
1. @»7313Y NCUY3ATY»AC 1,249,512.0 1,249,512.0
I'33U31»A840A146Y Y»AC SRE3TA0Y»AC
E40C33T13Y ~3A»Adi 343Naidil
(BT ICAZTT3I £C3%4740AI40YY»Fi)
- W Gwwuinbbp pinuotihg 4729 1,249,512.0 1,249,512.0
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= “laie»>WSCY TSES»AC -anT=63T3Y 136313/ 03y | 3 ATasu
Ol CL
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
c = g 3 0 Swhuubph wGnGuwghnwywa = ” 0 pinLot anwihG
w = 2| 5 & Nty Gwiuutinh inGuinbuwghunwlywt c Z Junswyw pniet | $nlnuyhl pynigt
o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8
2. 2640ca0AI3Y 383N4T= - A46AI4cY 214,136.0 214,136.0 -
- 283413 -A3T3Y I3Eé»A 4215 214,136.0 214,136.0 -
3100110 | 0 pAEGU=2T=20U ~2A£0U°8£U a_ 28120 6,047,307.0 6,072,307.0 3,000.0
a2paséT20L0U uau _°s
3 ATasu
3110(11| 1 | O | PP IBé373A46AI3Y ~~ N3U3IYuY»A¢ 6,047,307.0 6,072,307.0 3,000.0
&3N46613icY yayr
&RCo
3112(11] 1 | 2 |PD NSBUSIVUY»AC &3Nasen=ICY yayr 6,047,307.0 6,072,307.0 3,000.0
3 ATasu
- a3Nasen=ICY UCcasY»h 4891 6,047,307.0 6,044,307.0 3,000.0
-{wunyuwgntd wwhiunwhb $nlnhg $nlnuwhb pjniok X - 28,000.0 -
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